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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
5818236 3718707 4411957
2.
3.
4,
5.
6.
2) 5) 6) !
63|8820 11(8397 7913222 8.
9.
7) 8) 9)

3018610

13|14576

6014440
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 142 2) 235r12 3) 44121 142
58/8236 37[8707 44[1957 "
0 0 0 , 235712
82 87 19
58 74 0 3 44r2]
243 130 195 . 140
232 111 176
116 197 197 5. 763r4
116 185 176
) 12 o1 6. 40r62
4) 140 5) 763r4 6) 40162 ! Ll
63/8820 118397 793222 s 352
0 0 0
88 83 32 J 4
63 77 0
252 69 322
252 66 316
00 37 62
0 33 0
0 4 62
7) 287 8) 352 9) 74
30[8610 13[4576 60[4440
0 0 0
86 45 44
60 39 0
261 67 444
240 65 420
210 26 240
210 26 240
0 0 0
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
142 352 287 74 235 r12 40 r62
44 r21 140 763 r4 1
1) 2) 3)

588236 3718707 4411957

4) 5) 6) 8.

6318820 118397 79(13222 o

7) 8) 9)

3018610 13|14576 604440
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